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B4z BEbEE L, g 0UT | IN |GROSS| HDCP | NET
B B EtH Fih ft A 37 37 74 0.0 74.0
EEE KXHZF XA Yot 40 38 78/ 0.0 78.0
M ER EX EDH 38 40 78/ 0.0 78.0
M |EHE s =i lgk 40 39 790 0.0 79.0
S MAKZR L DYTA 39 40 790 0.0 79.0
6 {RIR B = E 40 40 80, 0.0/ 80.0
oAk bt 40 40 80, 0.0 80.0
8 EA FX =il 38 42 80/ 0.0/ 80.0
O | Hst & = E 42 39 81 0.0/ 81.0
1067 B0 EHH ZH 42 39 81 0.0/ 81.0
1146 fEE & mEEIL 4 40 81 0.0/ 81.0
1261 8E [{FE = E 40 41 81 0.0/ 81.0
136 &K BX KSP 44 38 82 0.0/ 82.0
14461 IdE &HER AA—T 43 39 82/ 0.0/ 82.0
1547 {#EBAH# IEED =2 E 43 39 82 0.0/ 82.0
1662 —15% Al bt 43 39 82 0.0/ 82.0
1761 YRR % mEEL 42 40 82/ 0.0/ 82.0
184 Hb XA E—XYTHUR 42 40 82/ 0.0/ 82.0
1962 |FJIL_FH =2 E 42 40 82/ 0.0/ 82.0
206 EiE &BZ IVTA 42 40 82/ 0.0/ 82.0
21  BR EX ftA 41 41 82/ 0.0/ 82.0
2201 £% B E—XU2H R 40 42 82 0.0/ 82.0
2361 M FE = mlge 41 42 83 0.0/ 83.0
2441 =E # mEEIL 41 42 83, 0.0 83.0
256 IR BiE AA—=7 41 42 83 0.0/ 83.0
2661 | FIF FnE = E 43 41 84/ 0.0/ 84.0
21 | AAX A KSP 43 41 84 0.0/ 84.0
2860 AR Hi# = E 43 4 84, 0.0 84.0
961 =E %A ftA 42 42 84, 0.0 84.0
304 #iEH FH E—XYTHU R 40 44 84 0.0 84.0
3L | FTH EiF bt 40 44 84 0.0 84.0
324 /M Bk KSP 40 44 84 0.0/ 84.0
3L FEH # KSP 45 40 85/ 0.0/ 85.0
AGL |B93%  —HA E—XJUTH R 44 41 85/ 0.0/ 85.0
35 BRAJX =EB A4 YL 44 4 85/ 0.0/ 85.0
66 MTH FEB J1)—2Pb4 44 41 85/ 0.0/ 85.0
3G R EA XX 43 42 85/ 0.0/ 85.0
38 EAXR BEX =2 E 42 43 85/ 0.0/ 85.0
9 HBE R= FEEEIL 42 43 85/ 0.0/ 85.0
40452 AR fRKER DYT A 42 43 85/ 0.0/ 85.0
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B 15 B E L, g OUT | IN | GROSS| HDCP | NET
M B8 DB =05 41 44 85/ 0.0 85.0
261 B3 RE =E 41 44 85/ 0.0 85.0
3 HE 1F E—XY2HUR 40 45 85/ 0.0 85.0
M 18 R ARA—=7 47 39 86/ 0.0 86.0
A5G HF FA =i lgk 46 40 86/ 0.0 86.0
464z LA {5AI =i lgk 45 4 86/ 0.0 86.0
4161 =€ 1A T 45 41 86/ 0.0 86.0
Bt | EA EA KSP 45 41 86/ 0.0 86.0
961 |FA EIX ARA—=7 44 42 86/ 0.0 86.0
504 |Hh#f S = E 44 42 86/ 0.0 86.0
516 #EXK (& Yot 44 42 86/ 0.0 86.0
52{ |ISkR I fit A 44 42 86/ 0.0 86.0
53 HE (& = E 42 44 86/ 0.0 86.0
SAfr | IRFRI BN Yot 42 44 86/ 0.0 86.0
55 MK EH =i lgk 41 45 86/ 0.0 86.0
564 =L MR mEEIL 40 46 86/ 0.0 86.0
516 1T & ENi# 47 40 87 0.0 87.0
58 |iEB/K ZHAF KSP 47 40 87 0.0 87.0
506 | KEE B4 L 44 43 87 0.0 87.0
606 BT EHi¥ =iH 44 43 87/ 0.0 87.0
6146 ;K RiA Eoolii 44 43 87 0.0 87.0
6261 BE[R FE FEEI 44 43 87/ 0.0 87.0
636 BH BRX E—XY2H R 42 45 87 0.0/ 87.0
64 K REH KSP 42 45 87, 0.0/ 87.0
654 BE fB— ] 42 45 87 0.0/ 87.0
664 |[EH XK = E 42 45 87 0.0/ 87.0
676 AR KE AA—=7 47 4 88/ 0.0/ 88.0
681 |HFT MR TR 47 41 88/ 0.0/ 88.0
694 TAXR IEfE E—XY2H R 45 43 88/ 0.0/ 88.0
1067 ¥R f@ J1)—>Pb4 45 43 88/ 0.0 88.0
T16L REEX #EX A= 45 43 88/ 0.0 88.0
1241 |FRHE A AA—7 45 43 88/ 0.0 88.0
13 (K& #&HA J1)—>Pb4 43 45 88/ 0.0 88.0
146 R B KSP 4 47 88 0.0 88.0
1561 |Hwm F|E = 47 42 89 0.0 89.0
166 (¥ EE ) 47 42 89, 0.0 89.0
16 | £F B ED# 46 43 89, 0.0 89.0
184 EBk  FA| AA—7 45 44 89, 0.0 89.0
1961 KHF T2 AA—7 45 44 89, 0.0 89.0
804 A {84 AA—7 44 45 89, 0.0 89.0
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B {5z BEbEE L, g OUT | IN | GROSS| HDCP | NET B 15 B E L, g OUT | IN | GROSS| HDCP | NET
81 |[IUT #% =2E 44 45 89 0.0 89.0 12161 | ER B = E 50 45 95/ 0.0 95.0
821 & mE 43 46 89 0.0 89.0 122481 &8 fdih bt 49 46 95/ 0.0 95.0
83 B2 BUE AA—=7 43 46 89 0.0/ 89.0 12341 [#8R  8h FwEEIL 49 46 95| 0.0 95.0
84 EEFE EX I)VT A 42 47 89| 0.0/ 89.0 1241 =37 1BE =i lgk 49 46 95/ 0.0 95.0
854 MTH RE bt 42 47 89 0.0 89.0 1256 HE f£E4£ [LE 48 47 95/ 0.0 95.0
866 HE Z‘X KSP 49 4 90, 0.0/ 90.0 1264 [ZE XE A4 47 48 95/ 0.0/ 95.0
81 | BAH FEK KSP 48 42 90, 0.0/ 90.0 12740 AH BB ARA—=7 46 49 95/ 0.0 95.0
88 Mk B A bt 47 43 90, 0.0/ 90.0 12841 #EJR  FEFD =i lgk 44 51 95/ 0.0/ 95.0
891 EXR & Eooii 46 44 90| 0.0/ 90.0 1294 FiE BB LE 52 44 96/ 0.0/ 96.0
04 e BIE KSP 45 45 90| 0.0/ 90.0 1304 ALEH IEF T 52 44 96/ 0.0/ 96.0
1L a4 BEhE KSP 49 42 91 0.0/ 91.0 13141 | &gk 1EBA =2E 50 46 96/ 0.0/ 96.0
9241 | EE &% bt 48 43 91 0.0 91.0 13261 | XM HZ= bt 47 49 96/ 0.0/ 96.0
93 ZEE 1ER A4 L 46 45 91 0.0 91.0 133 0 ¥ =ik 45 51 96/ 0.0/ 96.0
94 B EE ZH 43 48 91 0.0 91.0 13441 kR FE=8 KSP 52 45 97/ 0.0/ 97.0
954 LA —& LE 42 49 91 0.0/ 91.0 1354 | EH  #EE BE 50 47 97/ 0.0 97.0
9%z FME fBA =2 E 49 43 92 0.0 92.0 1364 AR i KSP 49 48 97/ 0.0/ 97.0
9741 |FH & bt 48 44 92 0.0 92.0 1374 $TH  gETL KSP 49 48 97/ 0.0/ 97.0
9B FAXR EE LE 48 44 92/ 0.0/ 92.0 1384 &£Jh HKH bt 47 50 97/ 0.0/ 97.0
99 A J— =5 46 46 92 0.0/ 92.0 1394 | EH 1E bt 45 52 97, 0.0/ 97.0
1004 | AH & B4 )L 45 47 92 0.0 92.0 14041 /N B KSP 52 46 98 0.0 98.0
1014 |HIR #8358 ENH 43 49 92 0.0 92.0 141461 FEX XE& ENH 51 47 98 0.0 98.0
1024 | K¥ A 51— P54 51 42 93| 0.0 93.0 14241 EXR B FmEEIL 50 48 98 0.0 98.0
103 | EE E& LE 49 44 93/ 0.0/ 93.0 1434z |FigE@  5ABA A= 49 49 98/ 0.0 98.0
10443 |fHeh &— = 48 45 93/ 0.0/ 93.0 14461 WE IFHE =2 49 49 98/ 0.0/ 98.0
1054 |1 &= 51)—>2Pbh4 47 46 93] 0.0/ 93.0 1450z BEH FE J1)—2Pb4 47 51 98/ 0.0/ 98.0
1064 |f4iR i LE 47 46 93] 0.0/ 93.0 1464 /B88 2 fit A 46 52 98/ 0.0/ 98.0
10746 | #%F H= KSP 47 46 93 0.0/ 93.0 14741 #iH & I)YTA 40 58 98 0.0/ 98.0
1081 | & e =Y 46 47 93 0.0/ 93.0 14841 | X5F &S AEEIL 54 45 99/ 0.0/ 99.0
1094 Ak Fih Z ATl 46 47 93] 0.0/ 93.0 14941 HAL  EH Yot 54 45 99| 0.0/ 99.0
1104z giTE mEEIL 45 48 93] 0.0/ 93.0 1504 AR £ Yot 50 49 99| 0.0/ 99.0
i | F5 s ED# 52 42 94 0.0 94.0 15146 | EH ZF&E EDiE 49 50 99| 0.0/ 99.0
1261 AT BE Yot 52 42 94 0.0 94.0 1524 | #% & = E 48 51 99, 0.0 99.0
13z #iK [EIE Yot 49 45 94 0.0 94.0 15341 |fE = Yot 47 52 99 0.0 99.0
114461 =& St ATl 48 46 94/ 0.0/ 94.0 15441 Bk &EZ FEEEI 52 48/ 100/ 0.0/ 100.0
1154 | EX Yot 48 46 94 0.0 94.0 1554 ‘=i = Yot 51 49/ 100/ 0.0/ 100.0
1164z #81L  EF AA=7 46 48 94 0.0 94.0 15641 JIEk FISB A= 51 49/ 100/ 0.0/ 100.0
1174 | PR fd— ) 45 49 94/ 0.0/ 94.0 157461 8 B= A= 50 50, 100/ 0.0/ 100.0
1184 | =M  #EEH ATl 44 50 94 0.0 94.0 1684 L0 1§ = E 46 54/ 100/ 0.0/ 100.0
1194 | KA 8| Yot 43 51 94 0.0 94.0 1594 K& X g3 51 50, 101] 0.0/ 101.0
1204z IR %47 Yot 51 44 95/ 0.0 95.0 1606L | AL A ED# 46 55| 101/ 0.0/ 101.0
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B4z B4 g OUT | IN | GROSS| HDCP | NET
1614 |BEIR  #A s 54 48/  102] 0.0/ 102.0
1624 AR EE AA—=7 55 48/ 103/ 0.0/ 103.0
1634 |#BHI Fif =B 54 50, 104/ 0.0/ 104.0
1644 £ FX 51— Pb4 53 51/ 104/ 0.0/ 104.0
1654 3B EN =i lgk 52 52/ 104/ 0.0/ 104.0
1664 |F/ZFA #¥a bt 50 54/ 104/ 0.0/ 104.0
16741 &4  F0th DYTA 43 61/ 104/ 0.0 104.0
1684 |IUF  43BH bt 55 50 105/ 0.0/ 105.0
16942 D #34t =i lgk 52 53/ 105/ 0.0/ 105.0
1706 | AH &E& I)VT A 51 54/ 105/ 0.0/ 105.0
1714 |TEf 4 B4 )L 49 56/ 105/ 0.0 105.0
1724 #0008 s 54 52/ 106/ 0.0/ 106.0
17361 | K% FF EDiE 45 61/ 106/ 0.0 106.0
17461 B8 ®HE — ATl 55 52/ 107/ 0.0/ 107.0
17561 | KE X LE 52 55/ 107/ 0.0/ 107.0
1764 |—f #A — ATl 53 55/ 108/ 0.0/ 108.0
177460 | AR #a AA—T 51 57/ 108/ 0.0/ 108.0
1784z & IEFO AA—T 57 52/ 109/ 0.0/ 109.0
17942 | NH 58— bt 58 53 111 0.0/ 111.0
1804 /NI —4 a4 L 56 55| 111] 0.0/ 111.0
1814 | =48 T LE 50 62 112/ 0.0/ 112.0
1824 |7k fd B s 55 58/ 113/ 0.0/ 113.0
1834 | E1E X AL—=7 53 60 113/ 0.0 113.0
18441 HiE FEH EXO¥:] 61 59/ 120/ 0.0/ 120.0
1854 | FhiM  BYEA ATl 62 68/ 130/ 0.0/ 130.0
N R#ME ERB J1)—>Pb4 0 0.0l 0.0
N R®H 8 D)YTA 0 0.0l 0.0
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